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Part A

A2

Expanding Your Vocabulary

Expressing Preference

1. | prefer to talk on the phone. / | prefer to text message.

2. Eating less is preferable to exercising more. / Exercising more is preferable to eating less.

3. I am in favor of receiving plastic surgery. / | am not in favor of receiving plastic surgery.

4. It seems clear to me that using public transportation is preferable to driving your own car. / It seems clear to me
that driving your own car is preferable to using public transportation.

Giving an Opinion

1. | disagree with

2. In my opinion,

3. There are several reasons why

4. There is no doubt in my mind that

Casting Doubt
o chiat A o
Joe:  ALBIE QA ARz = HEz/ofof of. o M52 1P BRsHN ZSO2 XH/0{0F SIHE. HESH MBS TE 4 QU= WHS o3
olok.

Debbie: HojlAl 2 517001, R2l7t & X122 AZ0| Z2X| AX| ZFoL? At SR ZNY M7 2 of A8 XHo[2tm H2fH.

e Sample Answer e
1. While Joe says that some crimes need to be punished with death, Debbie points out that a lifelong sentence in
prison is a far worse punishment.
2. Debbie’s statement that a lifelong sentence is a far worse punishment than death refutes the point made by Joe.
3. While Joe is in favor of the death penalty, Debbie opposes it.

Solving a Problem

1. According to the professor, we can stop water pollution by preventing companies from operating near rivers.

2. The reading discusses solutions to the decrease in the dolphin population.

3. As a way to make more money, my parents suggested | get a part-time job.

4. In order to solve this problem, we need to work together as a team.
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. Almost (ad.
. reasonable (a. gz2|x
= 5

. good (a. &&8t), well (
. fund (v. XF2E MIZsiCH, finance (7. Xi2)
. cite (v. QI83lLY), site (n. T7L, FHA)

. adopt (v. Z{E4SICH, adapt (v. AU=sHX|CH HML2SICH

. perspective (n. 23), prospective (a. &z{2l)

. advise (v. 113

. affect (v. ~0f ¥g
O

tc}), advice (n. 1)

&2 o|x|c}), effect (n. Az, E1b)

19]), Most (a. th7el: most+(of)+=24HA
8l ), responsible (a. ~2| 2oIol)

)]
. sensible (a. £E£35t, $1F3H), sensitive (a. LS, o213

ad. &)

. compliment (. 2tAH, complement (v. EetsiCt & 0{22|CH)

. exhaustive (a. ™gt), exhausting (a. X|&st, X|X|A| 5H=)

. economic (a. Zr|(A)e]), economical (a. AXZEQI, Hoksh=)
. effective (a. Z0t&0Q1), efficient (a. 580!, F8%9l)

. career (n. 23, 0|&) *job (n. &, =l¢)

. estimate (n. Z1%), esteem (n. 7}, £5)

. excess (n. oiC}, 14l), access (n. Y, &2)

. advantages (n. A™EQI 0]2]) “merits (1. &%)
. exact *exact science (M2 nt&t)

. after a week

. lonely (a. 212) *alone (a,ad. £2)

. aim (n. 2&) *ambition (n. Z&. o)

enjoyed (v. &7|c}) *amuse (1. 547 5ich

. relevant (a. A=) *appropriate (o st 2ore)
. alittle (a. 2AZto] -, F7|: M 4 i= HALY) *a few (a. ofzie] 41 4 4 9

. rarely (ad. EXZ ~3IX| %)

. borrow (v. ga|ct) *lend (. 2aiz=ch

. atmosphere (n. EX HA9 £2|7]) *mood (n. 2| £9J7|. UA|ECI 7|=)
. achieve (v. &M3}C}) *obtain (v. &c})

. opportunity (n. 7|3]) *choice (1. &)

. overdue (a. 7|8t0| X|) *expire (v. 2t7(7} Z|cf)

. comprehensive (a. Z8t%{21), comprehensible (a. 27| $I2, ols&t 4
. extinguish (v. EEA|7|C}), extinct (a. EEE, MEH
. intuition (n. 212+, 82, intent (n. 2X|, oI5k

AN

%)

. by (prep. ~7X|, ~B0|H: o= AIZIIIK|Q SE, AEHO| ) “until (prep. ~7Hx|: S=H Aefe] Al%)
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A4

6. remember (v. 7|23ICH “remind (v. A7|Al7]c})
7. rewards (n. 24, HA) “awards (1. A
8. Modern (a. £|A12]) *Current («. six{o))
9. talented (a. 0oLt “unique (a. =31
10. imitate (v. REISICH “pretend (1. ~©1 #[5iCH

o chat s .
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HOR #ES 1), MUKSS MISAIZIE 20| of F2 W0l2hn 4243, HRolM AZS0] 18 4+ YES USH 2US HT3HR, 4
2 oits| 2 4 UL Hof

e Sample Answer e
According to Brittany, unemployment rates are very high. As a way to solve this problem, Brittany suggests
increasing unemployment benefits. Alex, in contrast to Brittany, says that it would only be a temporary solution.

Alex directly contradicts Brittany by saying that it might even make people want to stay unemployed. In order to

solve unemployment, Alex thinks the government should re-educate the unemployed.

Your Opinion:
| agree with Alex. In my opinion, the best solution to unemployment is re-educating the unemployed and preparing

them for employment.
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The economic recession didn’t hit our family until last year. Our excess in spending began to really affect us, and we
were coming close to bankruptcy. Most of our family members still had their jobs, so our father advised us to begin
spending money in a more efficient way. We took our dad’s advice, and within a month we were enjoying economic
health again. By making just a few changes, we were able to overcome a crisis.
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Part A 4

Core Grammar

Core Grammar 1: Correct Verb Usage

M Verb + That Clause

1.0

2.0

3. X (support that — support the view that)

4. X (remind that — remind herself that)

5.0

6. O

7. X (inform that — inform you that)

8.0

9. X (suggests us to talk = suggests that we talk / suggests talking)
10. X (comments on that = comments on the statement that)

B Verb Tense Consistency

1. has 2. need/needed, supplies
3. provides 4. came

5. closes 6. estimates

7. might occur 8. were, had missed

Subject-Verb Agreement

1. were 2. is
3. have 4. is
5. ask 6. needs
7. is 8. makes
9. has 10. have
Core Grammar 2: Sentence Structure p.23
¥ Run-On Sentences
1.0 2.® 3.0 4.9 5. @ 6. @ 7.®

[E] Sentence Fragments

When traveling, people visiting places for the first time are usually offered a number of different activities to do and
sights to see. Among these, going to a museum is one of the most popular choices. First, people visit museums
because this is the most convenient way to learn about the history and culture of a given travel destination. It offers
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A6

insight into the roots of a region or a country and helps tourists develop an appreciation for the area in a relatively
short time. People also go to museums because they are inexpensive. The cost of going to a museum is also very
economical when compared to other tourist activities like exhibitions and fairs.

° EH/\_‘I‘ °

OiAS & 1 OIUXIE X3 Yot MHE2 Ul B2 T2 &7i2let 27215 MSRED 0| § HEH0| 7= A2 7HY 2| U= M= S 6t
L

LoICH XM=, AMZS2 0|10] oElix|e] AAret 2310 thellAl HHE == U= 7H He2lst 80|7| 20| BERS WSt YWE 2 o X|Fo|Lt Lzt
of Hajof chet SES MBat KIS0 Hlm A F2 AlZh foll 1 X|Hoj| cist SHIZ QAME HES S=Ct. AIRIS2 E5F M 7+ 2] srEet
2 It HEUS HEohs HIE2 AL HiEts| 22 CHE e &&ut Hwel = [ 0i< ZXZo|ct

Conjunctions & Parallelism

1. B) 2. (A 3. (A 4. (B) 5. (A) 6. (A 7. (B)

Articles

1. | believe that students should wear ~a  uniform to school. There are several good reasons for uniforms. Firstly,

X students don’t have to waste X time in the morning, trying to choose an outfit for

the  day. They don’t have to worry that they will be judged on  the  shoes or the / x  clothes they are
wearing. Next, a student wearing a uniform will be on his best behavior. When he wears a uniform,
everyone knows that heis a  representative of a  particular school.

S2 oM 2ot =S Y2 i 2= AFS2 1 80| St ol SluE thEsItE A

mjo

otk
2. If | could play any musical instrument in the world, I’'d choose the violin. Being able to play this
instrument would bring joy not only to me, but also to all the people who hear me play. | especially like

X violin music because ithas a  soothing sound. Its music creates an  atmosphere of serenity. Playing

the violin is more difficult than people imagine. Students require hours of instruction from an  experienced
teacher. Even so, one day I'd like to pick up  a  violin and see if | have  the  talent necessary to become
a great player.

o Al o

alot L7} OF o7 |Lt CHE 4 Q| EICt®, HI0j@2IS MENE! RO|ct 0] 7|2 QI8 4 QITHs 212 LIOH OfLI2}, L GI5E S& BE Afziol
A B2 HAEE ZOICh LK S B0|22 XS Folsiet, IS Hiol2zle] IFAITI S5t Mg mZo(. Hlol2 St A2s 29|
= DiSof Uit HH0[22 AFE ARIS0| MZIsts ZiHCt O OfRIc ST MM OREE QF AjZie| XIS Wolo} BiTt. HIE 171 X8t o1

Punctuation

In most places, butterflies only appear during the warm months of spring and summer, but in countries with
warm climates, they can be found all year long. A butterfly” s life cycle is very interesting: it starts off as a caterpillar,
then wraps itself in a cocoon, and, a short while later, emerges as a brightly colored, beautiful butterfly. Generally,
butterflies have very short lives — most live for about 3-4 months, but others might live for as little as 2-14 days.
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Butterflies drink nectar from flowers; their specially designed tongues are like long, thin drinking straws. There are
about 24,000 different kinds of butterflies. Butterflies are found everywhere in the world except for Antarctica.

° GH}\_‘I‘ °
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When you start making money, there are many things you can afford to buy. Whether it be a simple candy bar or

a pair of tickets to a concert you’'ve always wanted to go to, the possibilities seem endless. However, | support the
view that saving your money for the future is better than spending it as soon as you make it. | save my money in the
bank every week because | never know when | will have an emergency expense. The future is unpredictable, and it

is always a good idea to have extra money. Obviously, saving money is neither easy nor enjoyable, but it is the right
thing to do. Even experts - financial analysists, for one - recommend that people should make a habit of saving

money from a young age.

Science and mathematics have created modern man’s way of living. Indeed, without these two areas, man would

not have been able to answer some of the biggest universal questions or create the most advanced technological

inventions. However, | oppose the belief that studying science and mathematics is more important than studying
history and literature. History and literature are responsible for producing the greatest minds in history. For example,
Alexander the Great was one of the greatest generals of all time. He was a student of Aristotle, and his /. His study
of history and literature helped him conquer the world. Although science and mathematics are important subjects too,
it is more important to be well-educated in history and literature.

° UH/\‘I °
2812} 4312 Bloh 1710 Mol WAIZ BIS0| Tk HOR 0] £ 7K S0P} YT, olvie HERl 2 WSS i B B 4= 908 2o/,
A 71e9 HHESS USXE XRYE AoICh. SHX|Eh H nistnt £8l5 SREk= 20| HAet 28lg SHet=s A2 SRt B0 Hiofsich. o
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Part A

Paraphrasing

1. traffic/car accident 2. frightened

3. teenagers, interest 4. work together

5. importance/stress 6. vacation, finishing

7. change, because of 8. Watching, damage/harm
B.

Going on field trips  is an important part of education for students. Not everything that a
student needs to learn can be taught in the classroom. Field trips give students the chance to see how the subjects
they learn about in school  are applied in the real world. For example, a student can study the environment
in school, but actually  taking a trip  to the mountains to study the plants and wildlife there will give that
student a much better understanding of what he or she  has learned
— Field trips are an essential element of education for students. Not everything that a student
needs to learn can be taught in the classroom. Field trips allow students 1o observe  how the subjects they
learn about in school are applied in the real world. For instance |, a student can study the environment in

school, but actually visiting the mountains to study the plants and  animals  there will help that student understand
what he or she has learned about in school.

Hstg 7hs A2 SPIS0IA AN n=22| S8t 20T SHYS0| 200 St ASSS WM TR O 7[2E £ Qlrt. S22 sSHlS0A St
5

=
A Ml 0EA MBEEX| 2 4 U= 7IEE MSSUTH OIS S0, SHl2 StwolM 2ol thall SHEE 4 QUXITE, AIZ0|Lf OFY
X

1. numerous 2. using, hazardous

3. the completion of 4. made a reservation

5. the protection of 6. Knowing

7. preventing, curing 8. Carefully checking, necessary

In the early 1500s, England was one of the weaker nations in Europe. Both France and Spain had far  greater
strength  militarily than England, especially on the sea. This was critically important because Europeans were just

A8 M TOEFL WRITING



beginning to colonize  North and South America. Both France and Spain were  growing
wealthy  from their South American colonies, but England’s role  in the colonization of the
Americas was limited due to its weak navy. This changed in 1588, when England’s navy defeated the Spanish navy

and emerged as the most powerful navy in the world.

— In the early 1500s, England was one of the weaker nations in Europe. Both France and Spain had far greater

strength militarily than England, especially on the sea. This was  of critical importance because
Europeans were just beginning  the colonization  of North and South America. Both France and Spain were
growing wealthy from their South American colonies, but England’s role in  colonizing the Americas was

limited due to its weak navy. This changed in 1588, when England’s navy defeated the Spanish navy and emerged as
the most powerful navy in the world.
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1. common 2. significant
3. safer than 4. more difficult
5. less, than 6. cheaper

7. more likely / more probable

Although Mars is not as large as the Earth, the two planets are in reality quite similar. Marsis  less
volcanically active than the Earth is now, but there is evidence that it was  less inactive inthe

past. Mars has water, mostly in the form of ice. Wateris  less abundant than on Earth, but its presence is

not insignificant. It suggests that Mars may once have been capable of supporting life. In fact, it is not completely
impossible that Mars may still  support life , although most researchers think it is unlikely.

— Although Marsis  smaller than the Earth, the two planets are in reality quite similar. Mars is  not as
volcanically active as the Earth is now, but there is evidence that it was  more active in the past. Mars has
water, mostly in the form of ice. Wateris scarcer than on Earth, but its presence is  significant . It suggests

that Mars may once have been capable of supporting life. In fact, itis possible that Mars may still support life,
although most researchers think it is unlikely.
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1. the major failure 2. They say
3. protect many endangered 4. which can pump
5. Although 6. If we do not stop

7. due to / because of
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Paraphrase:

While global warming is a serious problem, it is not the only problem faced by humanity . A growing
population, and  the need for more good farming land and clean water are all problems that we must solve

in the near future. Advances in technology alone will be insufficient to solve these problems. People have

to change their lifestyles so that they are less damaging to the environment. This means that unless we
become more environmentally aware, we will be unable to solve the problems we face.
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Part A

Summarizing

1. Many animals go into hibernation in the winter. Hibernation is somewhat similar to sleeping. The animal’s

heartbeat and breathing slow down greatly. Animals are also much less active during hibernation. This allows them
to burn far less energy in the winter months when food is hard to find.

° E;H}\j| °

= Some animals go into hibernation  during the winter to conserve energy.

2. In earlier times, there was little evening entertainment. Before the spread of electricity to most homes, there
were no TVs, radios, or even lights to read a book by in the evening. As a result, most people went to bed very early
and got up when the sun rose. Now, however, the sleeping habits of people are generally very different. People
now stay up quite late, and wake up later than they used to, because they have more entertainment options.

° {3H/\_‘1 °
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= The invention of electronic entertainment has changed the sleeping habits  of people.

3. In the 1500s, when European empires began to explore Africa and the Americas, they found three plants that
changed the history of the world: coffee beans, tobacco leaves, and sugar cane. Coffee, tobacco, and sugar were
instantly popular in Europe, where they were seen as rare luxuries. Demand for these products grew, and more and

more ships began to cross the Atlantic to get them. Thus, coffee, tobacco, and sugar all played an important role in
the growth of European colonial empires.

° SH}\j‘ °
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— The discovery of coffee, tobacco, and sugar helped drive  European colonialism
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= Modern life has contributed to an increase in unhealthy lifestyles because people do not get any exercise and
do not eat healthy food because they feel they have no time.
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= The moon is important to life on Earth because it creates the tides, distributes nutrients in the oceans, and

keeps the Earth safe by blocking asteroids.
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— The world is facing severe water shortages because the world has a limited amount of fresh water and a

growing population. In many areas there are already water shortages, and they will continue to grow.

1. Itis a well-known fact that most species of birds fly south for the winter. What is less understood is how birds

are able to find their way while flying thousands of miles. Some scientists believe that birds use the position of
the sun to help them navigate. By contrast, other scientists believe birds use landmarks like rivers and mountains to
help them find their way.
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— Scientists are unsure of exactly how birds find their way when they migrate.

2. Today, we are amazed by what the ancient Egyptians were able to accomplish. They were able to build huge
pyramids with extremely exact measurements. The Egyptians were also able to develop one of the world’s first
writing systems and one of the most powerful empires of their time. Clearly the ancient Egyptians had a very

advanced civilization.
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= It is obvious that the civilization of ancient Egypt wasvery advanced .

3. Coal has a number of important uses in the modern world. It is used to heat homes, create electricity, and power
factories. Coal is especially important in developing countries, where more advanced methods of creating power
may be too expensive. Unfortunately, coal also releases harmful gases into the atmosphere. Thus, the use of coal

has both important benefits and important disadvantages.
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— Coal isboth good and bad for humanity because it creates cheap power for developing

countries , but pollutes  the environment
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— Scientists have learned how to produce diamonds in a laboratory, and this will cause the price of diamonds

to drop in the future.
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= In earlier periods, salt was one of the most valuable substances on earth because it was difficult to obtain

and was essential for food preservation.
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— The cost of airline travel has decreased because increasing competition has forced airline companies to

lower their prices.
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— Since they were accidentally brought from America, bullfrogs have become an environmental problem in

Australia because they destroy crops and have no natural predators to control their population.
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— Because robots are now becoming smaller and more complex, they will be able to perform more and

more of the jobs currently done by humans.
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1. TV RA B9t MRS MESHA MAIA o 20| YLt UA=X] UA| shECE. &3t OtLI2E O|HE2 AIFEQ ool HatS ot MRS
S0 TVOIM = Zat MR20ilA ¢S Aol s 2 Fgs L=, AUsHH 0IS2 Mol tiet 22|59 R Y= 20(7| th=olct I Zup M2
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= It is the responsibility of news stations and newspapers to report the news honestly because they have such a

great influence on people’s opinions.
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— Smog and air pollution damage statues and monuments because they can discolor the stones and create

acid rain which destroys the stones.
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= Animals with higher numbers of rod cells see better at night, while those with higher numbers of cone

cells are better able to distinguish colors.
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= The spread of electronic products  causes problems with pollution because they contain toxic

substances.
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= Animals have many different ways to protect themselves from predators.
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= The early American settlers  faced many difficulties in their first few years.
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— Social insects live in colonies where each insect has a particular job to do.
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— Jupiter has numerous moons, which are very different from each other.
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= Building a car involves different companies and factories, which can result in a chain reaction in times of

difficulties.

Scripts & Answer Key Al5



=]
—
s
©
o

Note-taking for Reading

p.55

+ Model Note-taking
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Main Idea: Advtg of team sports

Stay healthy & fit

1.

- during games: run a lot + team practice

- during off-season: training program

2. Encourage good grades

- school rule: grades low — cannot play

3. Relieve Stress

- stress |

- lead happier & relaxed lives
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Vocabulary

performance: &%, &M  off-season: (% S0|) Mol ot nf  relieve: &+3}5ict
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Notes

Main Idea: Electric cars’ advtgs

1. An alternative to gasoline cars
- past: slower & run for a few hrs
- today: T battery tech — faster & run longer

2. Less air pollution

- more than half {

3. Economic advntg
- expensv to purchase an electric car
* no need for gas — cheaper over time

Vocabulary

significant: (Y&2 AL FE2{R ME2) £Q35H  alternative: tHoh CH2 g run out: HIHLICH CF M lessen: Z0|ct
purchase: 75t
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Main Idea: CEDAW (The International Women’s Rights Treaty)
1. Ensured women'’s rights protected by law

- get rid of unfair laws

- adopt laws that protect women’s rights
2. U.S. believes in the treaty’s ideals
- laws: equal rights
e.g. college, vote in elections, enter careers in science & engineering

3. Women'’s rights are recognized nowadays

e.g. women presidents, CEOs, equal pay, free to make own choices, etc.
- violations — punished by law

Vocabulary
adopt: z{E#SICH  convention: §9F, =2k elimination: Am|, M7{  discrimination: xf#  treaty: §oF
make a mark: AZsict
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Part B

Note-taking for Listening

+ Model Note-taking p.61
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OK, today we are going to talk about why it is not always a good idea for teenagers to play team sports for their
school. Uh ... first, you have probably heard that playing sports helps teens stay healthy. Actually, in many cases,
playing sports can be bad for a teen’s health. Many sports include weightlifting in their training programs. Doctors
have shown that teens should not lift weights because it can damage their bones, which are still growing.

For another thing, sports often lower the academic performance of students. It is true that most school districts
have minimum grade levels that a student must meet in order to play sports, but those grade levels are very low. In
most areas, students only have to keep a C average to play sports. So, teen athletes often only work hard enough
to get Cs and then spend the rest of their time practicing for their sport instead of studying. A C average isn’t exactly
what you would call good academic performance, is it?

Finally, team sports often make the lives of student athletes more stressful. First of all, they are much busier
than other students, because they have to study and go to practice. In addition, student athletes often feel a lot of
pressure from their parents and coaches to do well in their sport. So, in general, student athletes often lead more

stressful lives than other students.
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Main Idea: Cast doubt on team sports

1. Bad for health
e.g. weightlifting damages growing bones

2. Lower academic performance

- low min grade levels

3. Add more stress
- study + practice — busier
- parents + coaches — pressure

Vocabulary
weightlifting: 28 25  school district: sta

oz
Fi

M pressure: 9z
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You have probably heard people saying that we should switch to electric cars to reduce our usage of gasoline.
What I'd like to do today is show you why that might not be such a good idea.

OK, number one, electric cars are much better than they were in the past. Uh, they’re faster and they can run
longer, but there is still one basic problem: there’s nowhere to recharge the battery in your car. You have to do that
at home. That means you can’t use an electric car for long trips. Until we have stations where you can recharge your
battery ... uh, kind of like the gas stations we have now, electric cars aren’t really going to be a practical alternative to
gasoline-powered cars.

Second, switching to electric cars may help to reduce air pollution, but it will also cause new problems. If everyone
switches to electric cars, then America is going to have to produce a lot more electricity. And where are we going to
get that electricity? The only realistic way to produce that much electricity is to build a lot more nuclear power plants.
This also creates serious problems with pollution.

Finally, although people will no longer have to buy gas for their cars if we switch to electric cars, their electric bills are
going to increase greatly. So it’s not really certain that electric cars will be any less expensive than gasoline-powered cars.
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Notes

Main Idea: Electric cars are not a good idea

1. Nowhere to recharge battery
- only at home — long trip x
.. not practical

2. New problems
- using electric cars — need more electricity
.. need more nuclear power plants — create pollution problems

3. Electric bills
- expensv bills > gasoline cars

switch: Mstsict  recharge: £X5iCH  alternative: CHot

* Jof2E e

Okay, today we are going to discuss more about the International Women'’s Rights Treaty. This is a very important
treaty, because it aims to protect the rights of women all around the world. The treaty was widely supported by most
of the world’s countries.

However, what not a lot of people know is that this treaty did not provide any ways to punish countries that did
not follow its rules. Instead, it required a committee to review the reports given by countries, and present general
recommendations. Let’s see ... until now, no definite actions have been taken against countries that didn’t follow
these rules. In this regard, the treaty fails to carry out its aims.

Well ... another thing is that people believe the United States follows the treaty. Yes, it’s true that the US claims to
support its ideals. But in fact, it is one of the few member countries that have not yet approved the treaty. The United
States signed the treaty in 1980, but its government has not formally agreed to follow the treaty. The United States
does play an important role in international women'’s issues. But, not all of its laws are favorable for women'’s rights in
the country.

Moreover, it's not entirely true to say that women now have equal rights to men. Uh ... the treaty did pave the way
for the world to start recognizing the importance of women'’s rights. But sadly, even today, women’s activist groups
and NGOs around the world report increasing violations against women. Umm ... one example is Saudi Arabia, a
country which does not allow women much freedom. Women who walk alone, or with men not related to them, can
be arrested and put in jail. As you can see, there are still places around the world where woman'’s rights are being

ignored.
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Main Idea: Misconceptions of the CEDAW

1. Doesn’t punish countries that don’t follow treaty
- instead — committee: review, recommend
- BUT no action!!

2. U.S. hasn’t approved the treaty
- claims to support, but hasn’t approved

- not all laws favrble to women

3. Women'’s rights are still violated

- activist group, NGO - violations against women 1
e.g. Saudi Arabia: women alone / with unrelated man — prison

Vocabulary
punish: M#HsiCt  committee: ¢I¥3] recommendation: 21 NGO: QlIX|Q; H|IXME 7|72
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Part B

Writing the Essay

+ Model Essay p.69

* Model Essay SHA]
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Outline
Topic sentence: The professor mentions three disadvantages of school sports.
Introduction Main idea in lecture: School sports are not good for students.
Main idea in reading: School sports are good for students.
Topic sentence: Playing sports can be bad for a student’s health.
Body 1 Point & detail in lecture: Weightlifting can damage the bones.
Contradiction in reading: Playing sports is good for a student’s health.
Topic sentence: Playing sports does not encourage students to get good grades.
Body 2 Point & detail in lecture: Students study only to get a C average to play sports.
Contradiction in reading: Students have to get good grades to play sports.
Topic sentence: Playing sports makes students’ lives more stressful.
Bodv 3 Point & detail in lecture: Students who play sports are busy and feel pressure from
ody

parents and coaches.
Contradiction in reading: Playing sports helps students relieve their stress.

® Sample Response ®
The professor says that school sports are not really good for students, and gives three reasons why this is
true. These reasons directly contradict the reading, which says that school sports are good for students.
First, the professor says that playing sports can be bad for a student’s health. This is because many sports

Scripts & Answer Key A23
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include weightlifting in their training, and weightlifting can damage the bones of teenagers. These claims call the
reading, which says that playing school sports is good for a student’s health, into question.

Second, the reading says that students have to get good grades to play sports. The professor, however,
says that students only have to have a C average to play sports. As a result, most students only study enough to
get a C average and then spend the rest of their time practicing for their sport. So actually playing school sports
does not encourage students to get good grades.

Finally, the professor says that playing sports makes students’ lives more stressful because they are busier.
She also says that they feel pressure from their coaches and parents to win. This directly contradicts the reading’s
claim that playing sports helps students relieve stress.

e Sample Response SHAT e
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Outline

Topic sentence: The professor opposes the reading passage for some reasons.
Introduction Main idea in lecture: Electric cars are not a good alternative to gasoline-powered cars.
Main idea in reading: Switching to electric cars is a good idea.

Topic sentence: Electric cars have improved, but they still have a fundamental problem.
Body 1 Point & detail in lecture: Electric cars can be recharged only at home.
Contradiction in reading: Electric cars are faster and run longer than before.

Topic sentence: Electric cars will create other environmental problems.
Point & detail in lecture: Nuclear power plants need to be built due to increasing electricity

Body 2
use.
Contradiction in reading: Electric cars may reduce air pollution.
Topic sentence: Electric cars will not help people save money.
Body 3 Point & detail in lecture: People will have high electricity bills.

Contradiction in reading: People will not have to spend much money for gas.

® Sample Response ®
While the reading is in favor of switching to electric cars, the professor opposes this policy in her lecture for a
number of reasons.
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The professor admits that electric cars have improved over the years, but she says that they still suffer from
one fundamental problem. Electric cars can only be recharged at home, and this limits their range and makes
them unsuitable for long trips. According to the professor, electric cars will not be a practical alternative until this
problem is solved.

The professor also points out that while electric cars may help to reduce air pollution, they will create other
environmental problems. Electric cars may reduce the amount of gasoline used in the U.S. but they will also
increase the amount of electricity used. That means the U.S. will have to build more nuclear power plants, and
these will create environmental problems of their own.

Finally, the professor claims that switching to electric cars will not actually help people save money. They
may not spend as much money for gas, but they will have much higher electricity bills. The professor shows her
opposition to the claim that electric cars will be any cheaper.

e Sample Response SHA] e
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Outline

Topic sentence: The professor opposes the reading passage for some reasons.

. Main idea in lecture: There are misconceptions about the International Women'’s Rights

Introduction Treat
reaty.

Main idea in reading: The treaty has greatly helped improve women'’s rights.

Topic sentence: The treaty does not have any measures to punish the governments that
fail to follow it.

Body 1 Point & detail in lecture: The treaty doesn’t ensure protection, because nothing has really
been done to ensure countries follow it.
Contradiction in reading: The treaty ensures protection of women'’s rights.

Topic sentence: The U.S. has not formally approved the treaty.
Point & detail in lecture: The U.S. signed the treaty, but the government hasn’t approved it

Body 2
yet.
Contradiction in reading: The U.S. strongly believes in the treaty’s ideals.
Topic sentence: Women'’s rights are still being violated.
Body 3 Point & detail in lecture: Women'’s activist groups and NGOs still report violations of

women’s rights.
Contradiction in reading: Today, women'’s rights are recognized everywhere.
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® Sample Response ®

The lecture discusses what is really happening with the International Women’s Rights Treaty. Contrary to what
the reading passage states, the truth about the treaty is different. While the treaty promises to protect women'’s
rights worldwide, numerous factors prevent this from happening.

First, the lecture points out that the treaty does not have any measures to punish the governments that fail
to follow it. Because of this, nothing concrete has been done to ensure that countries follow the treaty. This is
contrary to the reading’s statement that the treaty ensures that all women'’s rights are protected by law.

Second, the lecture mentions that one of the few member countries which have not formally approved the
treaty is the U.S. Although the U.S. does play an important role in international women'’s rights issues, and it did
sign the treaty in 1980, the government has not formally agreed to follow the treaty. This is very different from the
claims made in the reading passage about how strongly the U.S. believes in the treaty’s ideals.

Finally, the lecture points out that despite the advances and success of women in different fields, women'’s rights
continue to be violated. Women’s activist groups and NGOs still report violations of women'’s rights. Moreover, in
Saudi Arabia, women who walk by themselves or with men who are not relatives, can be arrested and put in jail.
This contradicts the reading’s statement that women'’s rights are recognized everywhere today.

e Sample Response SHAT e
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Part B

Proofreading

+ Model Proofreading p.79

® Final Response GiA]
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When students go to university, they have to make a number of important decisions. One of those decisions is
whether they will live at home or in a dormitory. In my opinion, it is better for most students to live in a dormitory.

Well, it is true that students may have trouble in college if they do not have their parents to supervise them, but
one of the reasons that we go to college is to become independent adults. College students have to learn to be
responsible and to work on their own. A lot of students do have academic problems in their first semester at school,
but that is part of the learning process. If students live at home, they will never learn to be truly independent, and that
will be a problem later in life.

It's also true that if students live in dormitories, they are more likely to make bad choices, um ... like drinking or
taking drugs. However, this is also something college students must learn to deal with. As adults, we have to be able

to decide what is right and wrong on our own. A student who lives at home will never learn to make good choices on
his or her own.
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Finally, while living in a dormitory is expensive, it is also a priceless experience. Students who live in dormitories
meet lots of people and make friendships that can last their entire lives. Certainly those friendships are more

important than the money a student can save by living at home.
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Reading
Main Idea: Living at home is preferable

1. Need supervision & guidance
- parents — check studying & school work
i.e. living in dorm — poor grades

2. Safe from getting into trouble
e.g. drinking & drugs

— can hide their actions in dorm

3. Save money

- dorm fee T = tuition fee

Response A
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Lecture
Main Idea: Living in dorm is better

1. To become independent adults
- learn responsibility & work on their own
= part of learning process

2. Learn to deal w/ trouble

- what is right & wrong

. Priceless expernc
- meeting people & friendship > money
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part B
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Some of you may have heard about the benefits of those stylish smart cars. However, smart cars may not really
be as advantageous as people think. Today, let’s look at what they say is good about smart cars.

First of all, smart cars don’t necessarily decrease traffic accidents. Yes, they do have several safety devices, but
driving along a busy highway doesn’t guarantee that these devices will save your life. For example, a driver may think
that because his smart car has anti-lock brake systems, or ABS, he’s safe. The driver may lose control of the car
because on soft and slippery surfaces like snow and ice, ABS may not work efficiently. You see my point?

OK, what else? Let’s see ... smart cars don’t actually have any effect on traffic situations. They are small and
compact, but that doesn’t make any real difference when you're in the midst of traffic. Driving along a narrow road
or along a highway has more to do with the driver’s skill and the condition of the car than with its size. In Europe,
where smart cars were first introduced, people still have the same traffic problems as they had before smart cars
were introduced.

Lastly, smart cars are expensive to own and maintain. They may need less gasoline than regular cars, and be
cheaper to buy, but their parts are technologically advanced and therefore more costly. Um, for example, smart cars
are manufactured from high-tensile steel and have computerized engine systems and ABS. Repairing and replacing

these parts definitely requires a lot of money.
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Reading
Main |dea: Benefits of smart cars

1. Lessen traffic accidents
- safety device
e.g. airbags & anti-lock brake system

2. Ease heavy traffic
- unique structure & small size
— good on narrow & busy street

e.g. parking

3. Cost-effective
- fuel-efficient
- easy to maintain & repair

® Sample Response ®

RHE5H= ORI &

HALt ABSE 7HX|n

Lecture
Main |dea: Not advantageous

1. Not decrease traffic accidents
- safety devices — not guarantee
e.g. on a highway, on snow & ice

2. Not decrease traffic
- need driver’s skill > small size
e.g. Europe
3. Expensive car
- high tech

— cost T to repair & replace parts

In his lecture, the professor completely contradicts the points made in the reading. While the reading says that
smart cars are better than other cars, the professor points out that there are a number of problems with smart

cars.

The professor first questions the safety of smart cars. He says that while smart cars may have a lot of safety

features, there is no guarantee that they will save your life.
relies on ABS.

A driver might lose control on slippery surface if he

The professor also says that smart cars do not help solve traffic problems. He says that small smart cars do
not make traffic flow easy by giving the example of Europe. This contradicts the reading, which says the small

size of smart cars helps reduce traffic problems.

The last point made by the professor is that smart cars are actually very expensive to maintain. The professor
says that the technology in smart cars makes them expensive to build and to fix. This casts doubt on the reading’s
claim that smart cars are less expensive because they use less gas.

Sample Response AT
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Some of you may have heard that it’s a good idea to start teaching kids a second language as early as possible.
There is a lot of evidence, however, showing that this may not be a good idea.

For one thing, while very young children are naturally better language learners than older children, there is some
evidence that learning a second language at a young age also causes problems. There have been several studies
of children who grow up in bilingual families, where they learn two languages. These studies have shown that while
these children do learn the second language very quickly, eh ... they never fully develop their language abilities in their
first language. In other words, they learn two languages, but they never completely master either language.

In addition, young children have extremely limited attention spans. A typical 3 - or 4 - year-old may be able to focus
his or her attention for perhaps uh ... 15 minutes at a time. So while young children are usually very enthusiastic
about learning, they also find it very difficult to concentrate. This makes it quite difficult to teach them.

Finally, while learning language at an early age may help children develop better study skills, it means they have
less time to play with other children. Playing with other children is how we develop our social skills. A child who has
good study skills but limited social skills is unlikely to succeed in life.
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Reading
Main Idea: Learning 2nd language at early age

1. Children’s brains are adaptable
«— still growing
- grow older — harder to learn

2. Curious & eager to learn
- learning = fun activity

# daily routine

Lecture
Main Idea: Evidence of its disadvantages

1. Bilingual families’ case
- learn 2nd lang quickly
— x fully develop 1st lang

2. Limited attention spans

- 3-4 yrs: 15 mins

3. Limited social skills

3. Succeed in school
- developed study habits
— experience of studying before entering
school

- less time to play — social skills x
— unlikely to succeed in life

® Sample Response ®

In the lecture, the professor talks about why it may not be good to teach children a second language at a
young age.

The professor points out that while young children are better language learners, learning a second language
at an early age can interfere with their ability to learn their first language. The professor cites studies of bilingual
families that show that the children in these families never fully master their first language.

The professor also challenges the reading’s claim that the natural enthusiasm that young children have for
learning makes them better suited to learn languages. She admits that young children are eager learners, but she
also points out that they have very limited attention spans and can only focus their attention for short periods of
time. According to the professor, this makes them very difficult to teach.

Finally, the professor points out that if a child learns a language at an early age, then the child will have less
time to play with other children. As a result, the child’s social skills will be less developed. According to the
professor, these social skills are more important to future success than the study skills a child may gain from
learning a second language at an early age.

e Sample Response SHAT e
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part C 4

Before You Start

Practice 1

p.100

e e Sample Brainstorming e ®

about others about myself

learn something new

appreciate differences

disagree

complement each other

fit together like a puzzle
/ ™~

strengths + weaknesses  outgoing + patient

e e Sample Outline ee

Introduction

Main Opinion: Strongly disagree with the statement.

Body 1
Topic Sentence: | can learn something new about myself and others through my friends.
Supporting Details: - because our personalities are different

- if friends have the same interests — never consider differences

Body 2
Topic Sentence: We can learn from each other.
Supporting Details: - fit together like a puzzle
e.g. outgoing person and patient person

Conclusion

Summary: If our friends have the same personality as us, we cannot learn from them and cannot

complement each other.
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Practice 2 Eal’d

® e Sample Brainstorming ®*

grew up in different time _— formed beliefs in childhood
(usually 30 years older)

different beliefs

discuss with friends

parents don't
know everything

secretive

what they do  what's going on

e e Sample Outline ee

Introduction

Main Opinion: Parents can never totally understand their children.

Body 1
Topic Sentence: Child’s beliefs and parents’ beliefs are different, so it is impossible for parents to completely
understand their children.
Supporting Details: - growing up in a different time
e.g. usually 30 years older

- childhood important for forming opinion and beliefs

Body 2
Topic Sentence: Parents do not know much about their children’s lives.
Supporting Details: - usually secretive

e.g. about friends, what’s happening in their lives

- discuss problems with friends

Conclusion
Summary: Parents can never totally understand their children because they grew up in a different time

period and do not know much about what is happening in their children’s lives.
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Practice 3 04

® e Sample Brainstorming ®*

turn to each other

big group

help when in trouble __—

\ coach each other
motivate each other

provide emotional support

fewer demands

less pressure

about losing

Team Sports

e e Sample Outline ee

Introduction

Main Opinion: | prefer team sports.

Body 1

Topic Sentence: Team members can motivate each other.

Supporting Details: - other team members can help when someone is playing badly
- turn to each other when someone is having trouble

- coach each other and provide emotional support

Body 2
Topic Sentence: Team sports puts less pressure on athletes.
Supporting Details: - less demand on individual

- if the team loses, it is the fault of the team

Conclusion
Summary: | prefer team sports because the support of my team members can help me to perform at my
best. In addition, there is less pressure on me to perform perfectly.
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part G

The Introduction

p.107

+ Model Introduction

* Model Introduction aHAd
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e Sample Introduction e

General Statement(s)
In general, people with similar personalities get along well, and it is easier for them to become friends

Connecting Sentence(s)
However, the best of friends are made among people with different personalities.

Thesis Statement
| disagree with the statement because the opportunity to learn from each other and to complement each other’s

strengths and weaknesses is an essential element of a good friendship.

Complete Introduction

In general, people with similar personalities get along well, and it is easier for them to become friends
However, the best of friends are made among people with different personalities. | disagree with the statement
because the opportunity to learn from each other and to complement each other’s strengths and weaknesses

is an essential element of a good friendship.

e Sample Introduction GfiA1 e
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e Sample Introduction e

General Statement(s)
The bond between parent and child is strong because it is connected by blood.
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Connecting Sentence(s)
However, that does not mean that parents are able to understand everything about their children.

Thesis Statement
| agree with the statement because parents and children grew up in different times, and because children do not tell

their parents everything.

Complete Introduction

The bond between parent and child is strong because it is connected by blood. However, that does not
mean that parents are able to understand everything about their children. | agree with the statement because
parents and children grew up in different times, and because children do not tell their parents everything.

e Sample Introduction afiA]
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e Sample Introduction e

General Statement(s)

There are numerous advantages to both individual and team sports,

Connecting Sentence(s)

but there are more reasons to prefer playing a team sport.

Thesis Statement
Athletes on a team can help each other perform better, and they share the responsibility for winning among many

people.

Complete Introduction

There are numerous advantages to both individual and team sports, but there are more reasons to prefer
playing a team sport. Athletes on a team can help each other perform better, and they share the responsibility

for winning among many people.

o Sample Introduction 3HA]
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part G

The Body

+ Model Body p.115

* Model Body SHAd e
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e Sample Body e

Topic Sentence

One of the things that | value most about my closest friends is that | can learn things when spending time with them.

Developing Sentence(s)

When you are with people who think and act in the same manner as you, there is not much to learn or think about.
However, being with people of different personalities means you can always learn something new about them or
yourself.

Supporting Example

For example, my closest friends have different personalities than | do, and spending time with them makes me
consider the differences between us.

Restatement of Topic Sentence (optional)

It is this kind of examination that teaches me about myself and others, and it is only possible because my friends are
different from me.

Complete Body Paragraph

One of the things that | value most about my closest friends is that | can learn things when spending
time with them. When you are with people who think and act in the same manner as you, there is not much
to learn or think about. However, being with people of different personalities means you can always learn
something new about them or yourself. For example, my closest friends have different personalities than | do,
and spending time with them makes me consider the differences between us. It is this kind of examination that
teaches me about myself and others, and it is only possible because my friends are different from me.
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e Sample Body e

Topic Sentence
Parents grew up in a totally different time from their children, making it impossible for them to fully understand their
children.

Developing Sentence(s)

Childhood is the most important time to form one’s opinions and beliefs, but in general, there is a 30-year time gap
between a parent’s childhood and the child’s childhood. Because this base of beliefs is so different, it is impossible for
parents to really understand their children.

Supporting Example
For instance, my parents won’t allow me to wear short skirts because when they grew up, wearing mini-skirts was
illegal. Even though short skirts are in fashion today, my parents disapprove of them.

Restatement of Topic Sentence (optional)

Omitted.

Complete Body Paragraph

Parents grew up in a totally different time from their children, making it impossible for them to fully
understand their children. Childhood is the most important time to form one’s opinions and beliefs, but in
general, there is a 30-year time gap between a parent’s childhood and the child’s childhood. Because this base
of beliefs is so different, it is impossible for parents to really understand their children. For instance, my parents
won’t allow me to wear short skirts because when they grew up, wearing mini-skirts was illegal. Even though
short skirts are in fashion today, my parents disapprove of them.

e Sample Body SHAT e
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e Sample Body e

Topic Sentence

Playing team sports will help athletes perform better.
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Developing Sentence(s)

For one thing, team members can coach each other and give each other emotional support. It seems clear to say that
this would make stressful games or competitions much easier to deal with. They can also motivate each other.

Supporting Example

For instance, if someone is playing badly or is not feeling confident, the other members of the team can help him.
Team athletes are a big group of people, so they can turn to each other if they are having trouble.

Restatement of Topic Sentence (optional)

For these reasons, playing team sports is beneficial to athletes.

Complete Body Paragraph

Playing team sports will help athletes perform better. For one thing, team members can coach each
other and give each other emotional support. It seems clear to say that this would make stressful games or
competitions much easier to deal with. They can also motivate each other. For instance, if someone is playing
badly or is not feeling confident, the other members of the team can help him. Team athletes are a big group
of people, so they can turn to each other if they are having trouble. For these reasons, playing team sports is
beneficial to athletes.
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part G

The Conclusion

+ Model Conclusion p.122
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e Sample Conclusion e

General Statement (optional)

Friendships are extremely complicated and difficult to define.

Brief Summary of Essay
However, | do not believe that the best friends are those with similar personalities. If our friends have the same
personalities as we do, then there is very little we can learn from our friends, and we cannot complement each other’s

strengths and weaknesses.

Complete Conclusion

Friendships are extremely complicated and difficult to define. However, | do not believe that the best friends
are those with similar personalities. If our friends have the same personalities as we do, then there is very little
we can learn from our friends, and we cannot complement each other’s strengths and weaknesses.

e Sample Conclusion 3] e
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o

o Sample Conclusion e

General Statement (optional)
There is no stronger love in the world than parents’ love for their children.

Brief Summary of Essay
However, that does not mean parents are able to totally understand their children. There is a generation gap between
parents and children, and they do not know enough about what happens in their children’s lives.
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Complete Conclusion

There is no stronger love in the world than parents’ love for their children. However, that does not mean
parents are able to totally understand their children. There is a generation gap between parents and children,
and they do not know enough about what happens in their children’s lives.

e Sample Conclusion SiA] e
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e Sample Conclusion e

General Statement (optional)
Omitted.

Brief Summary of Essay

In conclusion, playing team sports is preferable to me because the support and friendship of my team members can

help me to perform at my best. Moreover, the responsibility for winning is spread among a big group, so there is less
pressure on me to perform perfectly.

Complete Conclusion

In conclusion, playing team sports is preferable to me because the support and friendship of my team
members can help me to perform at my best. Moreover, the responsibility for winning is spread among a big
group, so there is less pressure on me to perform perfectly.

* Sample Conclusion iA] e
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part G

Proofreading

+ Model Proofreading
e Final Response G4
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part G

Progressive Test @

® Sample Response ®

| realize that it is important for people to get exercise, and | personally enjoy playing sports. However, | disagree
with the statement that all students should be required to take physical education classes, because not all students
like to play sports, and there is the possibility of injury in a physical education class.

Not all students enjoy playing sports, and not all students are good at sports, and for those who are not good
at sports, physical education classes can be embarrassing and uncomfortable. Students are not always very kind
to each other, and they often tease other students who are not good at something. When | was in school, the kids
who were not good at sports were often teased during our physical education classes. As a result, the class was a
terrible experience for them. | totally oppose the idea that students who are not good at sports should have to take
a class in which they will be teased and embarrassed.

In addition, students should not have to take a class where there is a risk of injury if they do not want to. Any
time you play sports, there is the possibility you could get hurt. If you choose to play sports then that is your
choice, but schools should not force students to take a class in which they may get hurt if those students do not
wish to.

In summary, | am not in favor of requiring students to take physical education classes because some students
may be teased by others for their lack of athletic ability, and other students may not want to risk being injured in
the class.
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® Sample Response ®

| think that most people probably eat 3 large meals a day. Personally, however, | prefer to eat a larger number of
smaller meals because | think it is better for one’s health and because it better suits my lifestyle.

| have read that most doctors say that eating a number of small meals during the day is actually healthier for a
person than eating three large meals each day. My own personal experience seems to support this. When | eat 3
large meals in a day, | often feel tired after each meal because | have eaten too much at one time. Then, later in
the day, | feel a bit tired because | am getting hungry but it is not time to eat again yet. If | have a higher number
of smaller meals, | avoid both problems; | do not feel tired from overeating, and | do not get hungry waiting for the
next meal time.

In addition, eating more small meals suits my lifestyle much better than eating three meals in a day. | am a fairly
active person. | work out each day, and | walk or ride a bike to most places | go. As a result, | burn a lot of energy
each day. | need to eat often to replace that energy, so eating lots of small meals is better for me.

In conclusion, | prefer to eat a higher number of small meals because | believe it is healthier for a person and
because it suits my lifestyle better than eating 3 large meals.
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Well ... you're probably familiar with genetically modified foods, foods that have been artificially altered in some manner
to enhance or remove a specific characteristic. This is a pretty bad idea, and there are a couple of reasons why.

First of all, genetically modifying food is an unnatural process. This is because it’s fairly new. We haven’t had time to
fully understand the long-term health effects of eating these foods. For example, soybeans in Britain were modified to
be herbicide-resistant. Umm ... however, researchers found that these same beans also caused a fifty percent increase
in soy allergies.

Secondly, genetically modified foods don’t really address the problem of world hunger. In theory, stronger, more
healthful crops from enhanced seeds could benefit people in poor countries. However, the companies creating these
seeds have to make a profit. So of course they’re more motivated to sell to rich countries. Developing countries that
have trouble feeding their populations most likely can’t afford these seeds.

Finally, breeding plants, uh, that are resistant to pesticides has the undesired effect of boosting the immunity of the
very insects they’re meant to eliminate. Pesticides aren’t completely effective, and some insects survive. The genetic
trait that allowed them to survive is passed on to their offspring, who will also be resistant to the pesticide. Stronger,
more toxic pesticides will be required, and this can cause ecological and health problems.
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® Sample Response ®

In the lecture, the professor talks about how genetically modified foods are not as beneficial as the reading
claims. The professor disputes the three main points made in the reading.

First of all, she says that genetically modifying foods does not make them any healthier, and sometimes even
has the opposite effect. She mentions that modified soybeans in Britain were actually responsible for a significant
increase in soy allergies. According to the professor, we do not really know much about the long-term health
benefits of modified foods.

Furthermore, the professor claims that genetically engineered foods will not help the world’s hungry, because
farmers in poor nations will not be able to afford the special seeds. She admits that in theory, the poor could
benefit from more healthful crops, but says the companies that make the seeds are motivated by profit and are
more interested in selling their products to rich countries than to poor ones.

Lastly, she argues against the reading’s claim that genetically modified foods will eliminate the need for harmful
pesticides. The reading claims that insects and pests will die if they cannot eat the crops. But the professor points
out that this will not happen. She says the pests will adapt to the new seeds and get stronger, so pesticides will
still be necessary.
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® Sample Response ®

Some people believe that car owners should pay for environmental damage caused by their cars. | agree
with this because many people are too dependent on cars and use them even if there are other methods of
transportation available. Also, since drivers are the ones causing the pollution, it is their responsibility to pay for
cleaning it up.

If you own a car, you are probably in the habit of using it all the time, even if you could get to your destination
just as quickly by walking or taking the bus. A lot of people feel that since they have a car, they should not have to
walk anywhere. For example, my cousin lives very close to a shopping mall. Even though it would only take him ten
minutes to walk there, he always drives his car because it is easier than walking. Even if traffic is bad or he has to
drive around the parking lot several times to find a parking spot, he prefers driving to walking. If drivers had to pay
an environmental tax, they might think twice about driving their cars to places they could easily walk.

Another reason that car owners should pay for cleaning up the environment is that they are the ones creating
so much air pollution. If they can afford to drive a car, then they should be willing to pay extra to fix the problems
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their cars cause. If they do not want to pay an environmental tax, they can choose to drive less or use alternative
methods of transportation.

People who drive should take responsibility for the air pollution created by their cars. An environmental tax might
encourage people to walk or take the bus or subway more often. Drivers should pay to fix the problems they are
causing.
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Actual Test @
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When people talk about the advantages of computers, they sometimes forget that computers have disadvantages
too. A good example of this is the use of computers in the workplace.

People often point out that computers have allowed people to work more quickly and easily. Sure, people can
do their work more quickly, but they are also expected to do more work than people were before the invention of
computers. So being able to work faster does not really make an employee’s job easier because that employee is just
asked to do more work.

People also often note how useful computers are for keeping records in the workplace. Again, while it is true that
using computers to keep records eliminates the need for lots of space to store records, it also creates new problems.
Files on a computer can easily be destroyed if the computer gets a virus. In fact, in some cases, companies have been
known to lose all of their records when something goes wrong with their computers. In many ways, records are less
safe when they are stored on a computer.

Finally, while companies may be able to hire fewer people because of computers, they have to hire more highly
trained people to run and operate those computers. In general, those highly trained people receive much higher
salaries, so companies do not really save that much on labor costs.
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® Sample Response ®

The professor’s main point in the lecture is that computers are not quite as beneficial in the workplace as the
reading claims. The professor challenges the claims made in the reading on three specific points.

First, the professor points out that computers have not really made people’s jobs any easier. While he admits
that computers allow employees to work faster, as claimed in the reading, he also says that employees are now
expected to do more work because they are able to work faster. This challenges the reading’s claim that computers
have made work easier.

In addition, the professor also questions the reading’s claim that computers have improved record keeping.
Again, he admits that computers have eliminated the need for large file rooms, but he also points out that records
are easily lost or destroyed when a computer gets a virus. According to the professor, records are actually less safe
when stored on a computer.

Finally, the professor points out that while computers allow companies to hire fewer people, companies now
have to hire more highly trained people who generally make more money. This challenges the reading’s claim that
computers allow a company to save money on employee salaries.
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® Sample Response ®

Although credit cards have certain advantages, | think it is better to use cash whenever possible. For one thing,
it is easier to keep track of your money if you pay for things with cash. Also, using cash will make you think twice
about spending money on things you do not need.

It would probably be better for young adults to avoid the habit of paying for things using a credit card. If you
only use cash, you always know how much money you have available to spend. With a credit card, it is harder to
keep track because you do not have to pay any money right away. You might purchase many expensive things
using your credit card, and then not have enough money to pay for them all. If you pay for everything using cash,
you will have a better idea of how much money you have left. If you start running out of money, you will know you
should stop buying things.

Another reason using cash is preferable to using credit cards is because using cash makes you think more
carefully about buying things. For example, if you see something you like but do not really need, you might buy it
anyway because using a credit card is so easy. If you had to pay cash for the item, you might think twice about
buying it. If you want something that costs more than you can afford, you can buy it with your credit card. This
means that all the money you get in the future will have to be used to pay your credit card bill.
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It seems clear that using cash is better than using credit cards. Credit cards encourage careless spending
habits. People might spend more money than they actually have. Using cash ensures that people will spend their
money more responsibly.
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